
Correction Interrogation écrite n°7 : Décomposition et fractions irréductibles       Sujet A 
 

1)a) 150 = 2 × 3 × 5² 

b) 495 = 3² × 5 × 11 

c) 𝑃𝐺𝐶𝐷(150 ; 495) = 3 × 5 = 15  

 

2)a) 24 = 23 × 3 

b)  

 

 

 

 

 

 

 

 

 

3) 
36

42
=

36÷6

42÷6
=

6

7
  

 

 

Correction Interrogation écrite n°7 : Décomposition et fractions irréductibles       Sujet B 
 

1)a) 315 = 3² × 5 × 7 

b) 126 = 2 × 3² × 7 

c) 𝑃𝐺𝐶𝐷(315 ; 126) = 32 × 7 = 63  

 

2)a) 60 = 2² × 3 × 5  

b)  

 

 

 

 

 

 

 

 

 

 

3) 
70

42
=

14×5

14×3
=

5

3
   

 


